$1000

G.L.

AR

G.L.

AR

ax.

JAIT= 7700

M 10005-D

& & B |& 2 B I
1 £ @ 1T | x5200BE(7700) $ 1000
2 % [ 1 | SGCC
3 7 - F T | ®Uh-Kfz2- MEfE g 2
4 R T | 7M3zvLB% g 2
9) BREMEE 1 | SPHC BRBEHY - &
6 RXEEffEE 1 | SPHC BRBEHnY - &
7 X vy 7T T | fvIFLvEE 28
8 | EHmfigE 1| STK400,SPHC BR @ &
9 BAAY F 2 | SPHC BRBEHD > &

| NEES | KMAH 11127

* BBRHENY KTy 7 (FR23E 4R 0N )BT

250 20
$89.1x13.2 10
| 7
| N\ =
| ”O
O
IERI=SIR
| o
- 3
\‘/ ﬁux_j__l\
|
N ]

Jy &N b

|

0 N\ [-100x50x1t5.0

100

EREMLEHHE S=1/10

il
il
[
il
il
il
il

J
40

M12

t1.6

() Bty FEBE S=1/5

/




